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(4x = 3)(5x— b) = 2022 — (4b + 15)x + 3b
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3b=-9,b=-3

—(4b+15)=-3=a
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(F4]) = a® - 12ab + 36b* — 25
= (a—6b)2 - 25
= (a—6b+5)(a—6b-5)
. (a=6b+5)+ (a—6b-"5)=2a—12b
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a’>-b*> = (a+b)(a-b)
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(1)a® +8a+A=(a+4)?
(2) x>+ Bx+9 = (x+ C)?
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a’>+8a+A=(a+4)?=a®>+8a+16, A=16
¥ +Bx+9=(x+C)?=x+2Cx+ C?
C?=9,C=4+3,B=2C, B==6
LA=16, B=6, C=3 (=B, C= %)




5. (x+y+4)(x—y+4)-16x & HZA AFEft 227

D (x—y+4) @ (x+y-4)?
® (x-y-2)(x+y+8) @ (x+y-1)(x-y-1)

® (~x-y+4)(x-y+4)
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x+4 =12t
(t+y)(t—y) - 16x
=1 -y - 16x
= (x+4)?-16x -y
= (x? +8x+16—16x)
= (x? - 8x + 16) -
— (- 47 -7
=(x+y- 4)(x y—4)
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=2(2x+1)(2x-1)

8x2 —2=2(4x*>-1)

452 —4x + 1
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39x 41 = (40 — 1)(40 + 1) = 402 — 12
= 1600 — 1 = 1599
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(x-1)(Ax+ B) = Ax> —Ax+ Bx— B
=3x*—ax-4

A=3,B=4,a=A-B=-1
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